
Zadanie 13. Oblicz różnice sposobem pamięciowym.

 

260 - 140 = …. 

380 - 310  = …. 

930 - 24  = …. 

1.000 - 123   = …. 

500 - 125  = …. 

260 - 243  = …. 

1700 - 132  = … 

 

1.380 – 1.323 = …. 

1.500 - 150 = …. 

1.230 – 1.105 = …. 

2.000 – 1.500 = …. 

250 -  130 = …. 

940 - 132 = …. 

250 - 200 = …. 

 

300 - 225 = …. 

750  -125 = …. 

250- 233 = …. 

1.460 – 1.340 = …. 

1.430 – 1.200 = …. 

10.000 – 1.200 = …. 

3.000 – 1.500 = ….

 

Zadanie 14. Oblicz różnice według wzoru   

Wzór: 935 – 37 = (935 – 30) – 7 = 905 – 7 = 898 

824 – 28 = ………………………………………………………………. 

653 – 58 = ……………………………………………………………… 

667 – 65 = ……………………………………………………………… 

754 – 62 = ………………………………………………………………. 

753 – 38 = ……………………………………………………………… 

997 – 41 = ……………………………………………………………… 

524 – 28 = ………………………………………………………………. 

758 – 48 = ……………………………………………………………… 

253 – 37 = ……………………………………………………………… 

926 – 32 = ………………………………………………………………. 

553 – 47 = ……………………………………………………………… 

943 – 42 = ……………………………………………………………… 

356 – 32 = ………………………………………………………………. 

741 – 49 = ……………………………………………………………… 

961 – 62 = ……………………………………………………………… 

835 – 48 = ……………………………………………………………… 


